
244Cm Z = 96 N = 148 adopted link ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 1835.844 ( 0.001) MeV

Energy T J+ J- J-other T1/2

-----------------------------------------------------------------------------------------------

S-alpha= -5.901 ( 0.002)----------------------------------------------------------------------

244CM 1 | 0.000 0+ | | 1 18.11 Y 3

244CM 2 | 0.043 2+ | | 2 97 PS 5

244CM 3 | 0.142 4+ | | 3

244CM 4 | 0.296 6+ | | 4

244CM 5 | 0.502 8+ | | 5

244CM 6 | | | 0.934 (3,4) 6

244CM 7 | | | 0.964 (2,3) 7

244CM 8 | | | 0.970 (2+,3-) 8

244CM 9 | 0.985 0+ | | 9

244CM 10 | | | 1.021 (2+) 10

----------- -----------------

244CM 11 | | | 1.038 (2+,3-) 11

244CM 12 | 1.040 6+ | | 12 34 MS 2

244CM 13 | | | 1.084 (1,2+) 13

244CM 14 | | | 1.106 (1,2) 14

244CM 15 | | | 1.151 (4) 15

244CM 16 | | | 1.187 (2+,3-) 16

244CM 17 | | | 1.220 17

244CM 18 | | | 1.296 (3,4) 18

244CM 19 | | | 1.328 19

244CM 20 | | | 1.654 20

----------- -----------------

244CM 21 | | | 1.785 21

S-p = 6.012 ( 0.002)----------------------------------------------------------------------

S-n = 6.801 ( 0.002)----------------------------------------------------------------------

S-2p = 10.843 ( 0.002)----------------------------------------------------------------------

S-2n = 12.495 ( 0.002)----------------------------------------------------------------------

S-alpha= -5.901 ( 0.002)----------------------------------------------------------------------

S+p = -3.927 ( 0.002)

S+n = -5.519 ( 0.002)

S+2p = -8.940 ( 0.002)

S+2n = -11.978 ( 0.002)

S+alpha = 6.361 ( 0.005)

gap p = 2.085 ( 0.003)

gap n = 1.283 ( 0.002)

gap 2p = 1.903 ( 0.003)
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http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=244Cm
https://www.nndc.bnl.gov/ensdf/


gap 2n = 0.517 ( 0.002)

gap alpha = 0.460 ( 0.005)
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